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s} i0g (L*) CIELAB lightness
loglL") L*
CIELAB lightness for all colours, L*,=100:
L =116 (1Y)~ 16 1,=100, Y>1)

| _loo(L,)=1.63 m=043

log (L*/L* u) CIELAB lightness

" dative normalized CIELAB cata
CIELAB lightness for all colours, Ly =100
L+ =116 /1Y)~ 16 1,=100, Y>1)

T
=

log AY CIE tristimulus value difference
logay) AY
L+ =116 ¢1vy 2 16
0(3 (1/116)) + (213) loghY,)
a3y 3/116) + (213) ogh)

Iog(AYIAYu) CIE tristimulus difference
avi

reave normalzed CIELAR cata

L =116 vy

log(@)=log(3 M,mﬁ)) + @3 logt1Yy)
= log(3(v, 3/116) + (213) logi)

log (AY/Y) CIE tristimulus values
log(®) S=aY1Y)

CIELAB sensitivy:
10g[(AY/Y) = log(3 (v, /116) - (1/3) logy

gy

log [(AY/Y) ! (AYu/Yu)] CIE values

Caiaive nefmalzed CIELAB ser
logl(AYMI(AY,/Y,)] = log(Y,)

P 7130.149.60.45/~farbmetrikVES LIVEG ILONL. TXT /.PS; start outp
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log (L*) LINYAB lightness
fute} i NVAR gtnes for ks, =100
L = 100[1+2/(1 + W (Y] (%,=100, Y> 1)
1010g(e),

1 appiication
' range

logAY CIE tristimulus value difference
log@Y) &Y L* = 100[L+1/(1 + W 9] (=YIY,, Y,=15, Y>1)
og(dY) = -k WfY, 1wy 2 )
k=10 log(e) W14

SIRENLT. MELTT

log (L*/L* ;) LINYAB lightness
LYIL* LINYAB lightness for al colours, L*,=100:
100{141/1 + W (Y/¥)5)] (Y=100,

0 log(e).

IAY) CIE contrast

l0g(C,) C=(Viav)
Tog(V/eY)= Iog{(113) (116¥,)] + (113) log{¥1¥,)

pa) (1161, 3] + (13) loglY)

VEsTN

log [(Y/AY) / (Y,/AY,)] CIE contrast
log(Co)| GG =(AVI(Y,AY,)
fave normilized CIELAB contast sensiviy
o (08, = g
1,750 Y,=18 4Y,=083
i _loal(YIAY)(Y,/dY,

appication’
range

=18

log (AY/Y) CIE tristimulus values
log(S) §=(AY;
umvm sensitiy

log [(AY/Y) / (AYu/Yu)] CIE values
S

Su=(BYIIYTY,
Ceaie nomalzed Lnvas
Iog(dY)= = k WolY,[L+W¢ 1
k=10 log(e),

o 2 W

SR

log (Y/AY) CIE contrast
log(C,) | C=(YiaY)

log(¥/dY)=1.02 m;=-0.07

00 2
K= 1,0 log L4

e o) e appication

log [(Y/AY) / (Y,/AY,)] CIE contrast

0g(Cr) ClCry=(YIAY)(Y,/AY,)

Aappication

Y,718
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TUB-test chart VE61; Colour difference formulae
CIELAB and LINYAB formula (chromatlc)




